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Explain the working of Watt governor with neat diagram.

Question:
Explain the working of Watt governor with neat diagram.

Answer:

Watt"s Governor:

Watl governor is the simplest and gravity controlled form of the centrifugal governors. It consists of two
fly balk atiached to the skeeve of negligible mass. The upper sides of arms are pivoled so that s balls
canmove upward and downward as they revolve with a vertacal spndle. The engme drves the spindle
throwgh bevel pears. The lower arms are conmected to the skeeves. The skeve s keved 1o the spinde
such a way that revolves with the spmdle. At the same tme, 2 can slide up and down acconding (o the
spindle speed. Two stoppers are provided at the bottom and top of the spindle 10 lmit the movement
skeve.

When the load on the enging decreases, the speed of the engme and then the angular velocey of the
povernor spindle merease. The centrifugal force on ball merease; that tends balls move outward and
skeeve move upward. The upward movement of the slkeeve actuates o mechanism that operates the throttle
valve at the end of “bell crank” kever to decrease the fuel supply. The power output = reduced.

When the speed of the engme decreases as the load on the engne Increase, the centrifugal force
decreases, The resull & that the mward movemnent fiv-balk and downward movernent of the sleeve, The
movemenl causes a wide opening of the throttle valve. The merease m the fuel supply also ncreases
engme speed.
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